C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 308-7 = 2) 294+3=
1.
2.
3.
4.
3) 720+8 = 4) 552+8 =
5.
6.
7.
8.
5) 585+9 = 6) 352+8 =
9.
10.
7) 424+8 = 8) 340+4 =
9 156+4 = 10) 245+5=
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 308+7= 2) 294+3= "
40 4 90 8 L
3 270 524 ) 08
7 280 29
| 3 90
a 69
3) 720+8= 4) 552+8= 65
80 10 60 9 >
8 640 180 8 480 |72
i 5 7 53
8. 85
5) 585+9= 6) 352+8= 29
60 5 40 4 o
10, 49
9 540 4 8 320 32
7) 424+8= 8) 340+4=
50 3 80 5
4 320 20
8 400 24 =
9 156+4 = 10) 245+5 =
30 9 40 9
4 120 36 5 200 45
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